SERR26 4 HENT R T ) (9 A)

B ST EBMOKEER S BN it 2 —
I =S == G 9> B = S5 T
1. "B80% (fE S 5 KRS E# NG
¥y A R (C) e 7K &2 (mm) H B& E B (h)

AAE AR 7= AAE AR 7= A AR b=
= Ay 25. 2 26. 4 - 1.2 |154.0 45.7 |+ 108.3 | 39.6 63.2 |- 23.6
A 22.9 24.7 - 1.8 2.0 77.2 -75.2 | 59.7 52. 6 + 7.1
T A 23.5 22.6 +0.9 7.0 87.2 -80.2 | 74.1 44.1 |+ 30.0

II. HEHDELLK

[(E&EED]
R
FIRE T, ISP : 9/7, 10~12
B4R OE OB E 8 K
. ) . AR R A
- - 6 [ WAEEHEHEEWY
Fiii N 4, - Pa=:
#oE R4 b aE % o A 535 (1) % £ O
S A SR ST 5% 7 15 0 0 0 22 68.2 ¥ JH B O ®: 1.0 17.0
o) 1 0 0 0 1 0.0 0.0 0.0
(46 & ) 4 0 0 0 10 60. 0 1.5 15.0
(™ o) 2 9 0 0 0 11 81.8 0.6 20.5
X & ] 4 14 3 1 0 22 81.8 % iz Jif 12. 4 26. 1
( o) 1 0 0 0 0 1 0.0 0.0 0.0
(46 & i) 2 6 1 1 0 10 80.0 12.2 27.5
(™ o) 1 8 2 0 0 11 90.9 13.6 27.3
[ R AR AR | 14 8 0 0 0 22 36.4 s %/ #k (EE ) 0.2 9.1
BE ROK A ALY ~
(Ao s 13 8 1 0 0 22 40.9 RO/ Bk (EE ) 1.0 11.4
a7 ) A AN 20 2 0 0 0 22 9.1 # F E R ®: 0.2 2.3
(ST I ] 22 0 0 0 0 22 0.0 3 ] ;-3 * 0.0
Nl N A 21 1 0 0 0 22 4.5 % e i3 * 1.1
wmoOE K Om 22 0 0 0 0 22 0.0 % 4§ B R = 0.0
ES il ) 22 0 0 0 0 22 0.0 J& B = x 0.0
Vv )T wmdan A4 4 18 0 0 0 22 81.8 25 kW X L oth % 20.5
4% 7 nh phv 20 2 0 0 0 22 9.1 25 Bk % v i ¥ * 2.3
EBH, Z4Fh., HA K URTHHA: 9/25, 29
B4R OE OB E 8 K
. ) . & TR EE SRk
PR P e R R RERERER
- ~ SN () % L D %
3G i) ] 1 6 0 0 0 7 85.7 % e S ©9.0 21.4
[ R B | 6 1 0 0 7 4.3  H %%/ B (3 ) 0.0 3.6
ST K v K
%‘f%‘gﬂ%AE’% 4 2 1 0o o 71 42,9 A /1004 () 0.9 14.3
B N W 7 0 0 0 0 7 0.0 % 9 i3 * 0.0
T OF OE O OW 7 0 0 0 0 7 0.0 % 9 i3 * 0.0
woO¥E R H 7 0 0 0 0 7 0.0 F 7/ B F x 0.0
* il ] 7 0 0 0 0 7 0.0 J& B = x 0.0
Vel wdan g 1 6 0 0 0 7 85.7 5 ALV TE & Lok 21.4
4% 7 nh phv 7 0 0 0 0 7 0.0 25 & % v M % = 0.0
WOES Fal e T

SPT, EEAEAT, ARUPET, _LARET. BT, AT, SRR
EEH, W, KA L LT

AL

o~

|
og DR O
3 T3




E
| WM |

R, R, IR NATRA © 9/29

F R R E N M 5K

. i . A L FE Rk
i s . b w2 g ay LW WAEEA RO RERERER
- e 5% (%) 3% E o K%
AN G B 1 3 5 0 0 0 8 62.5 % K O o 0.3 15.6
Y)AD AN T hY 8 0 0 0 0 8 0.0 REOHRFEE: 0.0 0.0
N AN 2 6 0 0 0 8 75.0 B E H 4 R 3.4 18.8
N/ IVAR B R S 7 1 0 0 0 8 1256 #% % B % : 0.3 3.1
7 7 7 A vH 0 1 0 5 2 8 100.0 % A& H R R = 75.0
DAV A 0 2 6 0 0 8 100.0 % & ¥ K o« 43.8
R
ISP, RASEMTIRA: 9/11
F A FE O B OE 5 K
B . TR RR P FE
B oE 4 I A L wEAHE BT PR
53 (%) 5 E O K%
= 2 bk 0 0 0 0 8 0.0 % W ¥ £ W: 0.0 0.0
> E AW 5 3 0 0 8 100.0 3 o & 5 B JE - 9.8 34. 4
N =8 1 7 0 0 0 87.5 & £ ¥E F %: 4.8 21.9
L » x |
RRIT, o5 EWT, A K URTHHA © 9/25,29
B4R E B E 8 K
. X . AT B RSk
g e I 4 - Az 5 A [/ A mEHE KO,
‘Fﬁmmé 2 EF' E4 E EID+ }%45(%) %i@ﬁ?ﬁ
R e ) 2 4 0 0 0 6 66.7 ¥ W OH£ & W: 1.4 16.7
5 F A W 0 1 3 2 0 6 100.0 % 9\ #HE L W: 27.1 54. 2
M 2 % E 6 0 0 0 0 6 0.0 ¥ % ¥ % ®: 0.0 0.0
f B % % R 2 3 0 1 0 6 66.7 & 5 HE R (W: 6.6 25.0
hoA A v 4 2 0 0 0 6 33.3 Mk oE OB L W: 0.3 8.3
EESARNE BV 6 0 0 0 0 6 0.0 # %= B F = .0
7Y aAthANT T hY 2 1 1 1 1 6 66.7 #H A& R K x 41.7
A Vi j 3 3 0 0 0 6 50.0 #& # ¥ R = 12.5




[ 3]

N
F i, 2T, —4Fm, AL UITFHE @ 9/29, 30
B4R E OB E 8 K
. ) . & TR EE S Rk
o w5 v 5 & Ay EEM W EEH RO TR
- e 53 (%) 3% E o K%
75 L A Z W 1 7 1 0 0 9 88.9 ¥ i 1E K (%) 12.6 25.0
W g W H 8 1 0 0 0 9 L1 % m RE W 0.2 2.8
7 7 5 A vH 3 6 0 0 0 9 66.7 F L O E @ 1.6 16.7
NAE LV H MY 9 0 0 0 0 9 0.0 # & 0.0 .0
n 9 0 0 0 0 9 0.0 # %= H R %) 0.0 .0
N X = 6 2 0 1 0 9 33.3  H £ R % 10.3 13.9
NVANE - BN 4 1 8 0 0 0 9 88.9 % A E K (W) 3.6 22.2
” 0 2 5 0 2 9 100.0  #% = B £ ) 18.0 55. 6
#H ik ] 9 0 0 0 0 9 0.0 % i Kk = .0
EVAEYAS A AN 9 0 0 0 0 9 0.0 # & #®E F x .0
| &Xvy~y
AHENT, BT TARA . 9/25, 29
B4R E B E 8 MK
. ) . & TR EE SRk
o P o WAk HE RO RERERER
- e 53 (%) 5% E o K%
7 7 7 A vH 1 2 0 0 0 3 66.7 H A& H £ W: 6.7 16. 7
o + H 3 0 0 0 0 3 0.0 M % /10 % (5 ): 0.0 0.0
Ty om F o3y 2 1 0 0 0 3 33.3  if ¥ /10 B (@) 0.1 8.3
NAE VT MY 1 2 0 0 0 3 66.7 & Kk R OW: 2.7 16.7
yoAfFEY S IbY 3 0 0 0 0 3 0.0 % £ ¥ %= W: 0.0 0.0
7 nyal =) 757~
T, AR, BRI, BT TTFEE . 9/25, 29
g R R OE B M 8 %K
B . TR RR E FE
S = HE A [ WA EE kWY
=54 e s> N2
'Fﬁ =] EE % P = EP % % I‘ID+ i';‘,/;’__i(%) %Vé ﬁi D q% ﬁlé{(
7 75 A v 2 8 1 1 0 12 83.3 & £ H T W: 14.3 27.1
= + H 11 1 0 0 0 12 8.3 ¥k /10 B (EE): 0.1 2.1
Y oyom Foan 11 1 0 0 0 12 8.3 4k /10 Bk (FH): 0.1 2.1
NACE YO b 9 0 3 0 0 12 25.0 % £ K R ®W: 4.0 12.5
ynfFEY ALY 11 0 1 0 0 12 8.3 #H A& KK E ®: 1.0 4.2




FEETRA : 9/12
B4R E OB E 8 K
. X . A TR B R Hx
& 4 I 4 N I [ FHAEEA kY
‘Fﬁ = E Zl iy 2% EF' E4 E EID+ }%%_5(%) % /:t %) 4;1]—_ ?y
AF 07 30w 9 0 0 0 0 9 0.0 # & 0.0 0.0
VAR A VIS4 0 1 1 7 0 9 100.0 # & jE 22.2 66. 7
yoAfFEY T IbY 8 0 1 0 0 9 1.1 s ¥ /s0 8 (8E) : 0.7 5.6
=5 BE bk 9 0 0 0 0 9 0.0 % ] BE * 0.0
S THRA : 9/25
g R R OE B M 8 %K
B . FEAERR E FE
B oE 4 w  » o % sy R WEEA KO BB
- e 52 (%) 5 E O K%
Y [6) i) 9 0 0 0 0 9 0.0 % % % £ W : 0.0 0.0
VAR NI | 9 0 0 0 0 9 0.0 % & % £ W : 0.0 0.0
%5747 30w 9 0 0 0 0 9 0.0 # & HE 0.0 0.0
I TR AN IV 0 1 1 7 0 9 100.0 # E 21.1 66. 7
ynfFEY ALY 8 1 0 0 0 9 1.1 s /50 8 (F) : 0.1 2.8
N A
ST, ST, AREPETIEA: 9/11
B4R E OB E Y K
. X . A TR B RSk
& 4 I 4 N I [F FHAEEA kW
'Fﬁ = E\ Zl Py 2% EFI 4 E IIID+ }E]"Jﬁ(%) % /:t ) fﬁ‘—]—: ?y
18 BE ) 2 1 1 3 0 7 71.4 % 95 JE 23.6 42.9
NACE YOI LY 0 2 3 2 0 7 100.0  # %= #¥ £ % : 14.0 50. 0
J& lile ] 7 0 0 0 0 7 0.0 J& i #E R x 0.0
7 75 A v 7 0 0 0 0 7 0.0 % /£ # = x 0.0




